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QUESTION 1

Your table space DB1.TS1 is currently index-partitioned. Which steps should be performed at a minimum to make it a
partitioned-by-range table space?

A. Issue ALTER TABLESPACE with a valid SEGSIZE > 0
B. Make the table space table-partitioned, then issue ALTER TABLESPACE with a valid SEGSIZE > 0

C. Drop the partitioning index, ALTER the table definition by adding partition ranges to the existing table definition, then
issue ALTER TABLESPACE with a valid SEGSIZE > 0

D. Drop the partitioning index, ALTER the table definition by adding partition ranges to the existing table definition,
create a partitioned index and issue ALTER TABLESPACE with a valid SEGSIZE > 0

Correct Answer: B

QUESTION 2

What must be done in order to audit read access to a table?

A. AUDIT ALL must be set on the table and an audit trace must be started.

B. An EDITPROC must be defined on the table and an audit trace must be started.

C. DATA CAPTURE CHANGES must be set on the table and the DB2 log must be captured.
D. A security label column should be defined on the table within a trusted context.

Correct Answer: A

QUESTION 3

Workload Manager (WLM) manages how many concurrent stored procedures can run in an address space and the
number of concurrent stored procedures in an address space cannot exceed the value of the NUMTCB parameter.
Which statement about the value of NUMTCB is correct?

A. NUMTCB parameter must be set to 1 for Java stored procedures.

B. NUMTCB parameter must be set to 1 for REXX stored procedures.

C. NUMTCB parameter can be a value greater than 1 for native SQL stored procedures.

D. NUMTCB parameter can be a value greater than 1 when a stored procedure invokes DB2 utilities.

Correct Answer: B
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QUESTION 4

What is one of the first key steps in preparing to use the BACKUP SYSTEM utility?
A. Run the MODIFY RECOVERY utility.

B. Alter the BSDS to allow BACKUP SYSTEM.

C. Define one or more storage groups to a COPYPOOL.

D. Stop DB2 to enable DFSMShsm functionality to be used.

Correct Answer: C

QUESTION 5

What would be a reason for altering the clustering index of a table?

A. To increase free space.

B. Because the clustering index has to match the primary index.

C. To choose a clustering index to favor batch sequential processing.

D. To choose a clustering index to promote sequential inserts at the end of the table space.

Correct Answer: C
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